
H
andles

35

Hinges and Industrial Hardware

 To Place Order:         800.433.5554            order@spep.com

Plastic HVAC L-Handle Latch with Roller Cam        
Part 

Number
Rotation 360°

Shaft
 Style

Shaft 
Length

Shaft Size Locking Finish

1157-01 bidirectional
M10x1.5
thread

3.00 [76.2] .313 [7.94] no
black, 

textured

	� includes roller cam (may be purchased separately, see part no. 697 on pg. 60)
	�made from glass reinforced plastic with UV inhibitors
	� door panel grip range between 2.04 [51.8] to 2.14 [54.4]
	� handle includes o-rings

Plastic HVAC Padlocking L-Handles   
Part 

Number
Mount Rotation

Shaft
Style

Shaft 
Length

Shaft
Size

Locking Finish

3940 front 90° CC
M10x1.5
thread

3.50 [88.9] .313 [7.94] no
black, 

textured

3941 front 90° CW
M10x1.5
thread

3.50 [88.9] .313 [7.94] no
black, 

textured

	� 1.97 [50.0] grip range is preset; may be changed with minimum order quantity
	� includes roller cam (may be purchased separately, see part no. 699 on pg. 61)
	�made from glass reinforced plastic
	� handle includes o-rings

Plastic HVAC Bidirectional L-Handles       
Part 

Number
Cam Type Length

Shaft 
Style

Shaft 
Size

Grip Finish

1153 plastic roller cam 3.66 [93.0]
M10x1.5
thread

.313 [7.94] .35 [8.9] - 2.25 [57.2] black

1153-01 steel offset cam 3.66 [93.0] .313 [7.94] .35 [8.9] - 2.25 [57.2] black

1153-02 plastic roller cam 5.66 [143.8] .313 [7.94] .35 [8.9] - 4.25 [108.0] black

	�made from glass reinforced plastic with UV inhibitors
	� can be installed as either a right hand or left hand handle 
	� includes cam (roller cam may be purchased separately, see part no. 698 on pg. 60)

4.13 104.8

1.26 32.0

44.2

   2.14 [54.4]  

1.71 [43.4] - 1.82 [46.2] REF.

1.74

   2.04 [51.8] -

    GRIP

3.00 76.1

1.71 43.4

.313 7.94
SQUARE

patented

1.69 42.9

.256 6.50  HOLE WITH

.614 [15.60] C'BORE
(2) PLACES

1.81 46.0

4.25 107.9

3.63 92.1

LOGO
DECAL
POCKET

FRONT VIEW

1.76 44.6 3.50 88.8

.313 7.95  SQ.

 GRIP 

ACCEPTS 5/16
PADLOCK

.67 17.0

RIGHT SIDE VIEW

1.75 44.4

2.63 66.7

REAR VIEW

1.69 42.9

.256 6.50  HOLE WITH

.614 [15.60] C'BORE
(2) PLACES

1.81 46.0

4.25 107.9

3.63 92.1

LOGO
DECAL
POCKET

FRONT VIEW

1.76 44.6 3.50 88.8

.313 7.95  SQ.

 GRIP 

ACCEPTS 5/16
PADLOCK

.67 17.0

RIGHT SIDE VIEW

1.75 44.4

2.63 66.7

REAR VIEW

.625 15.88
TYP.

.531 13.50  HOLE

.220 5.60
OPTION TO ADD
ONE OR TWO
LOCATOR HOLES

45° FOR
90  CW

ROTATION

45° FOR
90  CCW

ROTATION

MOUNTING DIMENSIONS

YOU MAY PUNCH ALL THREE HOLES FOR THE OPTION OF 
INSTALLING HANDLE IN EITHER A CLOCKWISE OR 
COUNTERCLOCKWISE DIRECTION AS SHOWN ON THE 
LEFT MOUNTING DIMENSIONS
                                       OR
YOU MAY ALSO PUNCH ONLY THE TWO HOLES THAT YOU 
NEED AT 45° ANGLES AS SHOWN BELOW

90° CLOCKWISE
HANDLE ROTATION

45° LOCATOR
PLACEMENT

LOCATOR PLACEMENT FOR
90° CLOCKWISE  HANDLE ROTATION

(2) HOLES

90° COUNTERCLOCKWISE
HANDLE ROTATION

45° LOCATOR
PLACEMENT

LOCATOR PLACEMENT FOR
90° COUNTER-CLOCKWISE  HANDLE ROTATION

(2) HOLES

NOTES:
PLACEMENT OF ESCUTCHEON LOCATOR DETERMINES HANDLE ROTATION.1.
DIMENSIONS IN BRACKETS ARE IN METRIC.2.

This document contains information that is the confidential and proprietary property of 
SPEP and may not be copied, published, or disclosed to others, or used for any purpose  
other than review, without the express written authorization of an authorized officer of 
SPEP. This document must be kept only in SPEP's confidential files when not in use.

BIDIRECTIONAL PLASTIC L HANDLE
CUT-OUT DIMENSIONS FOR

FOR 1153

17836-CUT_OUT
DWG. NO.

DESCRIPTION:

PART NUMBER:

11/25/2014TAJ
DATE DRN:

10/7/2021CONFIDENTIAL PROPRIETARY INFORMATION PLOT DATE:

SPEP.COMENGINEERING AND PRODUCTS C

SIERRA PACIFIC

DRN BY:

SQUARE
.313 [7.94]

SHAFT

M10 
THREAD 

THREADED SQUARE SHAFT

4.99 126.7

48.31.90

3MM HEX
LOCKING SCREW

STEEL CAM

 GRIP 

2.53 64.4

.70 17.7

1.80 45.7

.77 19.6

ROLLER CAM

 GRIP 

2.63  LENGTH 66.9

.313 7.94  SQ.

plastic roller cam

steel offset cam


